THE EAST GERMAN
EcoNomy STOPPED

RELATIONSHIP OF EAST AND WEST GERMAN PRODUCTIVITY
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Source: Databank of the Working Group "Income Accounts of the German States", data converted to the

former GDR and FRG by the Ifo Institute.
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this household has at least 90% of the west
German net income at its disposal. The east
German economy was modernised at a rapid pace;
investment boomed during the 1990s. Whereas the
share of investment in GDP amounted to 20% in
west Germany, it was at least 40% in the east,
peaking at 50% in 1994. This hides the fact, howev-
er, that the financial means available in east
Germany by far exceed the output produced.
Every third deutschmark which is spent in the east
comes from the west. Public transfers amount to
about 4.5% of west German GDP. And there is no
end in sight.

Since 1997 the economies of eastern and western
Germany have drifted apart as east German
growth has fallen below that of the west. A com-
parison of east and west German states (excluding
city states) shows that even in the boom year 2000
the eastern states grew by a meagre 1.1% whereas
the western states achieved growth of 3.2%. As a
result, relative output per employable person in
the former GDR which in 1996 - according to a
recent revision of the national accounts data of the
federal states — had amounted to 60.4% of the west
German level, declined further, to 57.6% in 2000
(see Figure). The latest unemployment figures also
confirm that east German states do much worse
than those in the west. Whereas unemployment in
west Germany declined to 7.7%, it remained at
18.6% in the east.

It is the output side of the east German economy
with its poor supply conditions which remains the
main problem. The level of investment spending
points to a major reason for lower productivity
growth and the stoppage of the convergence
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process. Economic growth depends on capital
accumulation. Capital is not only a factor of pro-
duction as such, it also embodies technical knowl-
edge. That is why in east Germany investment per
capita should be higher than in the west over a con-
siderable period of time. Although this has been
the case during most of the 1990s — albeit with a
declining trend in recent years — net investment
has primarily gone into construction and not into
machinery and equipment. Thus building invest-
ment per employable person at times exceeded the
west German level by up to 80%, while equipment
investment (per employable person) was higher
than in west Germany only in 1995 and 1996 and
has declined since to 88% in 1999. No wonder then
that convergence is not proceeding at the aggre-
gate level.

To be sure, economic catching-up is occurring in
individual sectors. Thus, real gross value added in
the manufacturing industry has increased by an
average 6.6% p.a. since 1996 — and thus faster than
in western Germany (including Berlin; 2.4% p.a.).
The construction industry, however, is mired in
deep crisis; its output shrank by an average 7.1%
p.a. during the past four years (west Germany:
— 0.7% p.a.). Even the tertiary sector grew more
slowly in east Germany: an average increase of
2.6% p.a. since 1996 compares to growth of 3% in
the west. H.W.S.
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